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Fractions of Amounts Answers

Sorah entered a 500-word story competiion. She wrote her tory over two evenings. O the firstevening, she wrote & 3nd on the

Second evening she wrote the rest.
a How many words did she write on the first evering? 300 words.
b How many words did she write on the second evening and what fraction was this? 200 words.

Two familes, the Smiths and the Taylors, go 0 a restaurant fora meal. At the end of the ight, when they pay their £ 150 bl they
decide 0 spit th bl equally betvieen the two failes. M Smith pas fo his famiyshaf of th il The Taor famil however decide
o splt thei ol of th bl between each of ther fomisy members. each member paying s of thei family's L.

2 Howmuchdo the Smiths pay? 75

b Howmuch do cach member of the Taylr family pay?  £25 each

There were 150 school chidren going on aschool residential . There were 3 coaches,each carrying s of the chidren. On cooch 8, &
of the chidren had medication with them.

a How many chicren were on each coach? 50 children on each coach
b Howmeny chicren had medication on coach B? 5 children

A retred couple von £800 o the lottery They decided to gve 3 to thei family and to spend 3 on a weekend away for themselves:
a How much money did the couple give to their family? £500

b How much money did they spend on their weekend away? £300

Jane watched a fim that was 120 minutes long. 3 of the way through the fim,the doorbell rang. She paused the fim to answer the
door and it was the postman with a parcel.

a How many minutes of the fim had she watched before the postman arrived? 100 minutes or 1 hour and 40 minutes
b Howmeny minutes of the im i she have left to watch? 20 minutes = % or 2, or 2
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Amir is multiplying fractions by a whole
number.

©9)

Can you explain his mistake?

Always, sometimes, never?

When you multiply a unit fraction by the
'same number as it's denominator the
answer will be one whole.

Amir has
multiplied both the
numerator and the
denominator so he
has found an
equivalent fraction.
Encourage
children to draw
models to
represent this
correctly.

Always - because
the numerator was
it will always be
the same as your
denominator when
multiplied which
means that it is a
whole.

e.g.%xS
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1 am thinking of a unit fraction. e
When | multiply it by 4 it will be 4xi=1
equivalentto 3 and

2 xioZ_
When I multiply it by 2 it will be )

equivalent to
What is my fraction?

What do | need to multiply my fraction 6 because

B 3
by so that my answer is equivalentto 7?6 x % = g

Can you create your own version of this
problem?
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Multi-Step Word Problems
Fractions of Amounts

Sarah entered a 500-word story competition. She wrote her story over two evenings. On
the first evening, she wrote £ and on the second evening she wrote the rest.

a. How many words did she write on the first evening?
b. How many words did she write on the second evening and what fraction was this?

Two families, the Smiths and the Taglors, go to a restaurant for a meal. At the end of the
night, when they pay their £150 bill, they decide to split the bill equally between the two
families. Mr Smith pays for his family's half of the bill. The Taglor family, however, decide
to split their half of the bill between each of their family members, each member paying
of their family's bill.

a. How much do the Smiths pay?
b. How much do each member of the Taglor family pay?
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There were 150 school children going on a school residential trip. There were 3 coaches,
each carrying § of the children. On coach B, 3 of the children had medication with them.

0

a. How many children were on each coach?
b. How many children had medication on coach 87

A retired couple won £800 on the lottery. They decided to give § to their family and to
spend 2 on a weekend away for themselves.

a. How much money did the couple give to their family?
b. How much money did they spend on their weekend away?

Jane watched a film that was 120 minutes long. £ of the way through the film, the doorbell
rang. She paused the film to answer the door and it was the postman with a parcel.

a. How many minutes of the film had she watched before the postman arrived?
b. How many minutes of the film did she have left to watch and what fraction of
the film was this?
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1 am thinking of & unit fraction.

When | muliply it by 4t will be
equivalentto}

When I multiply it by 2 it will be

. 1
Amir is multiplying fractions by awhole | €quivalentto 2
number.

Whatis my fraction?

What do | need to multiply my fraction
by so that my answer is equivalentto 3 ?

Can you explain his mistake?
Can you create your own version of this
problem?
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Always, sometimes, never?

When you multiply a unit fraction by the
same number as it's denominator the
answer wil be one whole.





 


 


 


 


 


 


 


 


 




                 

